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FIKO0% X 2,284 = 214 3,795 £ 324 1,752 = 24° 1,515 += 23 4B
BFIKB0%IX 2,146 = 34 P 3,678 = 53 1,661 £ 39 "¢ 1,540 + 39 Aba
BIKTE%X. 2,218 £ 15% 3,746 £ 24% 1,682 = 18° 1,532 = 171
BIK100%X 2,159 & 19 3,594 = 29% 1,590 £ 22°€ 1,435 + 21
ME2790[%. 2,187 = 21 3,721 = 33 1,721 = 234 1,544 = 23°
ME2980[X. 2,216 + 22 3,686 + 34 1,622 = 26° 1,467 = 25°
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UK 50% X 414 £+ 132> 743 £ 19 120 = 16 1,278 =31 92 + 38 50 &= 9 4B
UK 75% X 420 = 62 759 = 9 118 = 7 1,298 =148 88 + 1B 48 + 4 AB
FUKE100%X. 411 = 7° 753 £ 11 114 =+ 1,278 =188 89 + 2B 60 = 58
ME2790[X. 426 £ 8 764 = 11 123 = 10 1,313 =19 86 £ 2 39 £ 6°
ME2980[X. 416 = 8 755 £ 12 122 = 10 1,292 = 20 81 = 2 60 = 6°
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Lk ax bx L ax bk
PLIKO%X  58.3 + 0.5 6.8 0.4 47.9 0.6 46.9 0.5 17.8 0.6 30.9 *= 0.5 %
BKB0%X. 59.6 £ 0.9 5.8 2 0.6 44.5 1.0 48.3+0.9 17.9 = 1.0 29.5 &= 0.8 "B
BKTE%X. 59.3 = 0.7 4.0 = 0.58% 44,3 £0.78% 47.2 +0.7 16.4 £0.7 28.8* 0.6°"
BK100%X 59.6 £ 0.6 4.4 +0.48% 42,9 +0.6% 48.1 +0.6 16.7 £0.6 27.7 £0.5°8
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L ax b* (kgf) (%)
BWIRO%X.  58.3 £ 0.5 14.2 =0.8% 57.5 £1.3% 2.9 +£0.3 184+ 1.1
BKB0%X. 59.6 £ 0.9 9.8 = 1.34" 48,2 £2.2% 2.8+0.5 16.4 + 1.8
BIKTE%X. 59.3 £ 0.7  10.1 £ 1.0% 49.4 £1.7° 3.5 0.4 18.4*+ 1.1
BK100%X 59.6 £ 0.6 7.1 £0.8% 456 £ 1.4° 2.8 0.2 20.0 % 1.1
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